BEEAKRENT SR BHy FRCH

%% FHE AT
T2 E

gAML KR %645

£00)

pc ), 20 ) 30 ) 4( )
LC ) 1C ) & ) T ) /leC )
geo) O 0y e ) e )

L ) [7 ( ) IX ( ) 19 (

= 2 X
1.y 20)
LY 7))

RIE A V21

.
2.

20( )

s )

4 ( |
/00y,

9 (

3C D
&C )

z
=

(

- BRI (W 355 b9, SR 4H - WEAEER).

1. Which of the following are part of national incomg?
a. wages
b. profits
c. both wages and profits
d. neither wages nor profits
2. If the marginal propensity to consume is 0.8, theb, in the absence of an
income tax,_the multiplier is
a. 1
b, 2
c. 5
d. 10
3. A lower money supply leads to
a. higher income
b. higher interest
c. both
d. an increase in neither one
4. The demand for money is a theory of the demand folr
a. real balances ‘
b. nominal balances
¢. current account balances
d. frictional balances
|
5. The money multiplier reaches a maximum when excesb reserves
a. equal required reserves
b. become negative
c. egqual 0
d. approach infinity
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6. There is a negative relation between GNP and the price level along
a. the aggregate demand curve i
b. the aggregate supply curve
c. both these curves
d. neither of these curves
7. There is a negative relation between GNP and the interest rate along
a. the aggregate demapd curve )
b. the aggregate supply curve
c. both these curves
d. neither of these curves
1
8. When GNP is above potential GNP, prices are .
a. falling 3 : :
b. low
¢c. rising
d. high
9. In an open economy, the simple multiplier is in a closed economy.
a. larger than
b. smaller than
c. no different from that
d. any of a, b, or ¢
10. If a market is in disequilibrium and moves further and further from
equilibrium over time, then it is:
a. static equilibrium
b. stable equilibrium
¢. a general equilibrium
d. an unstable equilibrium
11. If government sets a price ceiling above the markbt price, then:
a. the quantity demanded exceeds the quantity supblied
b. the quantity supplied exceeds the quantity dem?nded
c. the quantity demanded equals the quantity supplied
d. the guantity supplied must be rationed on the tlack market
12. With respect to a normal good, a decrease in incohe will shift the:
a. income consumption curve to the right
b. budget constraint to the right
c. indifference curve to the left
d. demand curve to the left
13. When TP is maximized:
a. AP>MP
b. MP=0
c. AP=0
d. MP<O
14. For a given input, if the marginal factor cost exceeds marginal revenue
product, then the firm:
a. is incurring a loss on its sales
b. is making a profit on its sales
c. can increase profits by employing less of the [input
d. can increase profits by employing more of the input
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15.

16.

17.

18.

19.

20.

c. the change in total product'is negative

A general-equilibrium analysis of welfare conditions is necessary because:

a. interpersonal comparisons have no scientific bhsis
b. interdependencies exist in the economy

c. the minimum value judgement is Pareto—efflclent

d. social welfare functions may be intransitive

If Y is an inferior good and both the incomes of the consumers of good ¥

and the costs of producing good Y decrease, then:

a. both quantity and price will ihcrease

b. both guantity and price will decrease

c. quantity will increase and price may or may not increase
d. price will increase and quantity may or may not incraase

If the arc price elasticity for a given increase in price exceeds 1, then:

a. the good is a substitute
b.- total revenue decreases
c¢. the good is normal

d. demand is inelastic

A change in the scale of production will bring abput decreasing returns

only if:
a. the change occurs in the short run
b. doubling outputs requires more than doubling 1hputs

d. doubling inputs requires more than doubling outputs

The terms of trade is given by the prices:
a. paid for all goods imported by the home country
b. received for all goods exported by the home country
c. received for exports and paid for imports
d. of primary products as opposed to manufactured products

International trade in goods and services tends to:

a. increase all domestic costs and prices

b. keep all .domestic costs and prices at the same level

¢. lessen the amount of competition facing home manufacturers
d. increase the amount of competition facing home manufacturers
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